RLC &2 Bk B B B B S I R R 5T

RC+ RL A RLC HLHSAE FL YR B AW 0 R i 8] A, F i A — R RS 2 53 — RS b
PR, MVESEE, BEEREERRE, EEr AR O IEE B
ANH] R .

[scin R ]
1. RC 8 HRHLB 18 AR5k
R (AN — BB A2 3 53— IME AR N B R L s
FEE T PR IR K ST “17 1, % C ThTaG FAT D 0, TR E BT L BE R X
C7m, ETERG, EKITH “27, B R BCE, Ham .

E
1?1 —3
2

B 1 RC H3 1 HL I 1) 2 A

7 HL TR Ve , 1 U=t
dt Re(C Re(C
DCVEEST Wy 1 et =0
dt Re(C
t t
] R 1578 B FE R UC — EO(I—QRC UR = E067R7C
T I FE R U, = Eee RC U, =_—FEee kC

ANRAFU . U M EHEARBOREA . 27 =RC, 7 F9 RC HLH I [H]
WA o EMK, MU AR, BRI e eoitg. &2 40 7 AR ¢ EHI U,

BAE, Kb <7, <7y



K 2 AFUER Uc ZtbnE K

2. RL SRR SRR
FER 3 Fros i) RL B BRHLEE 2 K T “17 i, U RRARERAE, L4TH

“27 I, HRIABERAN 0, KA EERE T A IR AN AR RE . S RC H Ik

R, BRI, BRI

U, =Fee !’
R )
U,=Ee(l—¢ L)

e al e s UL:_E.e L

FHLVAL VH 2R .

U, —Eee

N L

e R B G R T T=E

k E k
e 1o l_

2 2
=K L:)i - K

K 3 RL &8 16 HEL 4% 1) BT A 72 Kl 4 RLC =% 1) B s it

3. RLC HHcHB I AL
FEE 4 Fros i) g, ek KT “17,
R BR TR R I AR, XN A LB T R

e Jo 54 K AT “27, KRR RLC H

d*Ue b 04U =0
dr’

LeC

Uc L0, sxberfe—etk R Ml =i

W& ENL =0, U= E,



1 _L

IL B, AXRBE U, = eELec " ecos(
R<2 %: C C ]
1-—eR
4R
Hrp Z'=2—L , 0= ! 1—£0R2
R LeC 4L

L T, -
R>2 %; . B U, =

ﬁ

H 7=", OR -1

_ L
R=21/. m, i RELE, U, [u-jzner

ot + @)

eEec ’osh(a)t+¢)

B 5 X =MIEIL T U A2, b 1 8RB, 2 vid e, 3 it EH e .
5 JRCRI ) Uce th4om = & 6 FHIN ) Ue thdon =K

m%éR<<2/é,ﬁ M BIZE 1 BIRIE SRR, AE B IO BIRER N .

Z AW e, AT LC BRI E BIRY, X o~

LC [0 1 [ A7 A5
P, SRCBERARZREL ARG AR A T AL E
K6 gt 7 sl AN FIBHE M U A Al 2 8]

[SEHNE]
1. RC H AL B 9 2 1

REAEL 5 C

.



(DIEFEEER R M CE, RAEREHEE r, @EEGERNTTBEIER, —BRERITBH
FIIT >107 , XEEREBOERM BT SR, JF B & &R s A dE, Llgk
RTINS AR U

QA R CH, MU, 35U HAACREE, 10 FANE RCER BB i

I I3 H B 8] 0 K o

G)EARTTBMA, WEPTEHIAANEBL, 73 M R AEAEAS AR I R B AR A A
o

2. RL LBt 8 450 e

HAEIER L5 RAE, EE R WBEAGE /N, BOY LAAAENE. MARPIEA KA.

HEILR, WM EFRE LES RAEIATER, J5755 RC S ER I AR S0 08

ESE

3. RLC =Rk it 8 51

(DEEFEFEN L. CH, WEEESH, H7 R/ WE=MHERG K5
o WIERRBH SRR (0 8, WM EH i L . C1H.

(2) FH 73 il 8 DN 2 R RELJE IS (R R 35 J S0 T RIS 1) 4 7 o o A it 7 91 35 M 2 ) e ok
JE, B KR 2 T IR 1) 0.368 it (¥ 5 MR B AL AR IS 1] R 7 f

[E%]

17 RC E A RE, [ €T s, i S22 B A BLAE, AT A = A RIKEI?
1AL T PR, A3 RIS ?

2.4E RLC B RE T, 25 77 B AR AR m ml ARG, REL S B PH e IR % I 2 fun e
H1 BELJE 3135 (0 R DN RLC FELK (R I [ 5 4 ?



